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Subject: Mathematics(1) (Science Section)
hoose the correct Answer

Q 16. If(T,)=(2,5,8, ... , L)is an arithmetic sequence whose

seventeenth term from the beginning is itself the seventeenth term
from the end, then L =......

Forall the valuesof neZ™, if a=1+3+5+.....(2n-1),
then ais

A) An even number.

B) Perfect cube number.

C) An odd number.

D) Perfect square number.

Q 18 £ the general term of a sequence is T,=n —4n +Kk and

n=m
ZTn = 7 where K is constant and T _ is the smallest term in the

n=1

sequence then K =

. If the first term in an arithmetic sequence is equal to 2 and the
guotient of division of its seventh term by its third term is equal to 2
and the remainder is 8, then its fourteenth term is equal to

Lpaled) L) — (o o3l ALY sl 22(x 9 4ada



Q  20- n the sequence (Tn) ifT,=1,T ,=4T_+Kk and T, =31, then
K =..

Q 21. The average rate of change of f is (-4) when x varies from b to 2
where f (X)=4X2 +a andb <2 ,then b=

If T isacontinuous function at X = 3and

X8 _ L then £7(3)=

x%f (O=IEN
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The given figure represents the curve of a function f . If the line L

intersects the curve at the points (x1 , f (xl)) , (x2 , f (xz)) then

the average rate of change of f when x varies from x, to x, equals ....
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If a man measure the elevation angle of the top of the

pyramid from two points on the ray that carries one of the
pyramid's base diagonals and at a distance of 100 meters,
200 meters from one of the vertices of the base of the
pyramid as shown in the figure. he found that their measures
are 62" and 40 respectively, so the height of the pyramid to

the nearest meter is equal to
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At exactly 7 a.m. a ship moved from a port in the direction &’
south of east with speed of 3 km / h. At exactly 8 a.m.
another ship moved from the same port in the direction o’

south of west with speed of 4 km / h. at exactly 11 a.m. if the

distance between the two ships was 124/3 km,

then 6" +a’
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Subject: Mathematics (2) (Science Section)

Choose the correct Answer

Q 26. A body moved 80 meters in the North direction, then it
moved 60 meters in the East direction, then the ratio
between the covered distance and the magnitude of its
displacement is

B 60 meters

I > C

wn
b
Q
-
()
S
o
ve]

D

Q 27. A body moves in a straight line from rest with a constant
acceleration, and its velocity after t seconds is v (m/sec),
then the displacement in the last two seconds is

A) v {t— '.l:]

t
B) V (t+1)

t
C) 2v(t—1)

t
D) 2v (t+1)
t

Aalall Al — (5 QUGN 0N Caall 22 14 Aadia
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Q =28. From a fixed point A man moved 240 meters in the East
direction in two minutes, then he moved in the direction of
West with uniform velocity of magnitude 8 m/sec for 30
seconds , then the magnitude of his average velocity vector

A) Zero

B) 2 ml/sec
C) 3.2mlsec
D) 5 m/sec

Q  29. A particle moves with velocity from the point A(1, 7) to the
point B in two seconds , what are the coordinates of the point B?

Lpaled) L) — (o o3l ALY sl 22« 15 4sia



Q 3o. The given figure represents the relation between the
velocity (m/sec)-time (t sec) for a body moving in a straight
line for 5 seconds, then the displacement covered in this

time interval is ....

U] = = ———————————

A) 25 meters

B) 50 meters
C) 75 meters
D) 100 meters

Q 31. Abody moved in a straight line with a uniform velocity to
cover a distance (90 s t ) km during a time of (3t) minutes,

then its uniform velocity is

Aadall duall — (5 58 S Cacal) 22« 16 4aia



Q 32. Two cars (A),(B) each of length 5 meters and moving with
uniform velocities 54 km/h, 36 km/h respectively, at a
moment car (A) was exactly behind car(B), then the actual

distance that car (A) covered to overtake car(B) exactly is
—

- A car moves with uniform velocity 25 m/s, the driver noticed that
there is a fallen tree blocking the road 65 m ahead.

He applied the brakes that gives the car a deceleration 5 m/s? to

avoid hitting the tree, thenthe car .................
T N A T, L

BRI 6
TR

A) Immediately stopped before to the tree.

B) Stopped 2.5 m apart from the tree.

C) Hits the tree with velocity 3 m/s.

Hits the tree with velocity 5 m/s.

Lpaled) L) — (o o3l ALY sl 22« 17 aia



Q 34. A particle moves in straight line from rest with a uniform
acceleration, it covered distance of (x) m during the first 10
seconds and covered distance of (y) m during the next 10

seconds, then

Q 35. A particle moves in straight line with a uniform acceleration, it

covered 20 m during the 4" second and covered 28 m during the

6™ second. What is the covered distance during the 5" second?

Aadall duall — (5 58 S Cacal) 22« 18 4sia
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Subject: Pure mathematics (Science Section)

Answers
Question Symbol Answer
No
16. A 98
17. D Perfect square number.
18. B 7
19. B 67
20. C 3
21. B -3
22, C 12
23. D ?1
24. B 152
25. A 60
Subject: Mathematics (2) Science Section
Answers
26. D 7:5
27, C &t_l)
28. A zero
29. A (7,3)
30. C 75 meters
31. D 500s
32. B 30m
33. B Stopped 2.5 m apart from the tree.
34. C y = 3X
35. B 24 m
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